OO HmIRBRE O
(b2 w DRRR]
g | 3rikBawe | t4hl &8 N | fAE | BEEE 1B/
1 9.00| &% 3000m RS 1 845 ~| 850
2 915| 9B 3000m P 1 9.00| ~| 905
3 9.30| &—5 3000m 1#8 REE 1 915 9:20
4 945 & 80mH (1 #8~2#D P 2 H{hL-A | ©:30| ~| 9:35
5 960| B 80mH B 1 935~ | 940
6 9.55(11\3-4% 100m (1 #~2#D P 2 8{hU-R | 940| ~| 945
7 10:00|1\5-6% 100m (1 #~2#D RS 2 8{h-2 | 945 ~| 950
8 1005|1345 100m P 1 950| ~| 955
9 10:10(/11\5-658 100m (1 #~3#D B 3 YhU-A | 9:55[~|[10.00
10:20 (1#8~3%#D 10:05| ~ 1010
10:30 (4#8~64) - 10:15| ~|10:20
10 10:40 PE 100m (7#8~9%D) TR 12| TOPS 10:25| ~|10:30
10:50 (10#8~1 248D 10:35| ~ [ 1040
11:00 (148~ 34D 10:45| ~ 1050
11 11:10| PLX 100m (4#8~6#D FiE 8 TOPS8 |1055| ~|11:00
11:20 (7#8~8#D 11:05| ~ 11110
12| 11:30| 8—% 100m (1 #8~3#8) it 3 TOPS8 [11:15| ~|11:20
11:40 (148~ 34D 11:25| ~|11:30
11:50 (4#8~64) 11:35[ ~[11:40
13| 1200| &8—58 100m (7#~9#RD TE 14 | TOPS8 |11:45|~[1150
1210 (10%8~12%8) 11:85| ~[12:00
12:20 (13%~14%8) 1205 ~[12:10
14| 13.00|13-4% 800m RES 1 12:45| ~[12:50
15| 1300|1h5-6% 800m P 1 12:45| ~|12:50
16| 13.05|/11\3-45 800m RES 1 12:50| ~[12:55
17| 1315|1565 1500m P 1 13:00| ~[13:05
18 1330| &—% 400m RES 1 1315| ~([13:20
13:35 (148~ 34D 1320 ~| 1325
19| 1350 &5 400m (4#A~6#D) RS 9 |F1AL—2]|1335|~[1340
14:05 (7#8~9%) 1350| ~| 1355
20| 1425 Ih& [4X100mR B 1 14:10| ~|14:15
21 1435 I8 |4X100mR P 1 14:20( ~|14:25
22 1445 4L 100mH (0.762m/8.0m) RS 2 H{hU-A |14:30 14:35
23 1455 &§—% 100mH (0.838m/85m) P 2 5{h-A |14:40 14:45
24 1505 P15 100mH (0.838m/85m) REE 1 1450 1455
25 1515 58 110mH (©914m/9.14m) P 2 H4{hU-A |1500| ~| 1505
26 1525 8—5 110mH (1.067m/9.14m) RES 3 H{hU-A |1510| ~|1515
27| 1540| B% 100m P 15:25| ~|15:30
28| 1545 5% 100m RES 1530 ~|15:35
29| 1550 @8 100m P 15:35| ~| 1540
30 1555 8—5 100m RES 1540| ~ (15145
31 16.05| L 800m (1#i~2%1) RS 2 H4h-2 [1550[ ~|1555
32| 1615 5—% 800m RES 1 16:00| ~|16:05
16:20 (1#8~3%#D s 16:05 1610
83 16:35 i 800m (4% A 4 b2 1620 ~|16:25
1640 (148~ 34D 1625 16:30
34| 1655 &5 800m (4#A~6#D) RS 7 4hU-2 [16:40 1645
1710 (7% 1655 17:00
35 1720 $ZZ |[4X100mR RS 1 1705 ~ (1710
36| 17:30| &%« [4X100mR P 1 1715 ~|17:20
37 1740 9% |4X100mR (1#~2%8) RS 2 N{hU-R |1725| ~|17:30
38 1750 &8 [4X100mR (1#8~2%8) P 2 H{hb-RA |17:35| ~|17:40




(BhEERR )

NO.|gareBaes | MRl El= I8 A BERR

1 thB I SRR 7 [~

2| 900 B85 - SRBS 14 | 830[~| 840
3 =2—5 ENBEE R 22 ~

5 11:00 =2 ES ek ST 2 10:30 — 10:40
6 11:20| o5 EMB ek SRR 31 1050| ~[11:00
7 . thz . R 22 N ol PO
3 13:00 = EIZHk R T3 | 123011240
9 5% SRR 4 [~

10| 14:00| &% ETSY2 SRS 3 13:30| ~[13:40
11 =5— B 15 ~

12 , N oy RES 8 N Ead PON
3| PO e el RES 16 | <10
14 . =58 — ooy RS 13 BN Ead PPN
15 16:30 F— =Rk T 5 1600— 16110
(8 CE5R#)

NO. | saReBaes | MRl El= I8 A BERSR

1 . 55— D) 1% (600g) SRR 18 o~ o

2| %Ora—s= 1 wnz (8008 R 1o | B30 840
3 . iz EXLE 2721ke) RS 6 . ~ ..

2|1 Y4 mae  @oke S 4 | 830rz 840
5 18 | @hE  (50ke) RE 14 [~

6 1000| &5 Xz (6.0ke) R 5 9:30|~| 940
7 =2—5 EXLE (7.260ke) RS 1

8 B [ Ve AR—LB R 16 I~
o| """ a T vv~r—ia T 719901940
10 | PBE | YvAUwH2O0- R 7 I~
1] PO g T vAuyoz0= R A o
12 b8 | mEE (15ke) R 3 [~

13| 1330 B Fofs (1.75ke) SRR 16 __|1300[~]13110
14 =5 [Rel:=2:8] (2.0kg) RS 4 ~

15 ~| Pz | m®E  (10ke) R 3 N
6] PB4 BEE  (1oke) R 10| 4eO| 1440
17 =—%2 | N\vv—& (7260ke) SRR 2 [~

18| 1630 52 Nv—% (6.0ke) RS 8 16:00( ~|16:10
19 s— | Nyv—-& (40ke) RS 3 ~




